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Q.1: right hand rule

How

|https://t.me/+U_FOBTmjx1ESODFk |

can you determine the direction of the magnetic field around a current-carrying wire by using the Right-Hand Rule?

Sntadll 3l 82l plasily )il dolo sy bumall b listall Jlroll ol 3,025 gabaiiad &S

el L) Sas1
Right-Hand Rule

|

Learning Outcomes Covered

o PHY.6.1.02.065

The thumb points in the direction of the conventional current, and the fingers will point in the direction of the magnetic field.

b ligall Jlall ol Gl al gibol yuiig (oMol il slail ol plgaVl i

The thumb points in the direction of the magnetic field, and the fingers will point in the direction of the conventional current.

oAbVl Ll olail ol adl gobol iy b ligell Jlxall olzil ol plgaVl iy

The thumb points in the opposite direction of the conventional current, and the fingers will point in the direction of the magnetic field.

Mark(s): 5/5
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caublizall Jlxall bl I sl glol ity (oMol Ll oladl juSsy plgal iy

The index finger points in the direction of the conventional current, and the fingers will point in the direction of the magnetic field.

b ligall Jlxall sl ol sl gibol yuiiy oMbuo Vil olail oJl &luwd! s

https://t.me/+U_FO6Tmjx1E50ODFk
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Q.2: Applications of circuits

How are circuits at homes wired so that more than one appliance can be used simultaneously?

Tl cBgl) (B Jlen (o S Jnagly and Cuns B gl duagh i

Learning Outcomes Covered

o PHY.6.2.02.013

Mark(s): 5/5

Just in series

i ) e

Just in parallel

L gl Ao

Randomly
Lilse

|Nora
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Sometimes in series and sometimes in parallel

Gl Ao Ulaly il Ao Ulal
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Q.3: electric power

A kettle has a power of 120W is connected to a 12 V electric line. What is the current the kettle draws?

Mark(s): 5/5

F0) apns oAl LAl Le (12V) dga (38 eLjeS Dad dliaie 120 W Lei a8 4L e 400

il @l )l SNl o ash Loy il

You may use any of the given equations where needed:

Charge of electron
- ws Iugll "d .
-1.6 X107 ¢

Charge of proton
s Al Aa

v A -~ “Aﬂ—‘IQﬂ

Learning Outcomes Covered

|Nora

o PHY.6.2.02.008

(=]

1440 A

C =

4
AV

W
D[lf
AV = —=o=
q
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Q.4: electric current

How

do electrons flow in a wire with respect to the direction of conventional current?

¢ Al il elady danally el & il g iSIV) 3805 oS

Learning Outcomes Covered -

o PHY.6.2.02.007

Mark(s): 5/5

both are in the same direction
oLVl Luai e Lo VS

in the opposite direction
duSleie Ulalxil o

perpendicular to each other

vasll lagasy wle plaolsio

no relation between them

|Nora
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Q.5: Applications of circuits Mark(s): 5/5

is an automatic switch that acts as a safety device by stopping the current if the current gets too large and
exceeds a threshold value. what is this switch?

Oz aall 138 (races 13ba.Ainl) A glay Min oS Ll sl 13) Sl il b o8 el SlgaS Qars S ke 58

Learning Outcomes Covered

o PHY.6.2.02.013

a.
Resistor
dqglial)
b.
Ground-fault interrupter
La ) JUaed) Ll ahld
C.

Fuse

=
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Circuit breaker
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Q.6: Ohm's law

Mark(s): 5/5

The current in the flashlight shown below is 0.60 A, and the voltage is the sum of the voltages of the individual batteries. What is the resistance in the

bulb of the flashlight?

Srlaaall L dagliall o Lo il il el il 8 g gana o 4l 5ill 5 0,60 A oLl e sall (g sl Flaadl) & Ll

A5V A5VIsVId

©

.
Learning Outcomes Covered
o PHY.6.2.02.009
o PHY.6.2.02.013
e e 0 0 0 S 0 1 1
[ ] |
a., '
' 7.50 O -
[ ] |
1 1
[ ] |
B o o o R R R RN N RN N N RN N R RN N RN RN N RN N R RN N NN RN N NN RN N NN N NN RN N NN NN N NN RN N NN N NN RN N NN NN N NN RN N NN N N NN N NN RN N NN NN N NN N N NN N NN RN N NN NN N RN RN N NN N N NN N NN NN N NN NN N NN N NN NN N NN NN N NN NN N NN N N RN N RN RN N R A M o
b.
2.50 Q
c.
0.90 Q
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Q.7: CIRCUITS- Application of circuit

What is the current flowing in the battery in the circuit?

85101 b g yloll (b @siall )Ll Lo

ANMNAMN -
Learning Outcomes Covered
o PHY.6.2.02.013
a.!
: 0.5A
b.
2.0A
c.
5.0A

1.0A

Mark(s): 5/5


stuf2011040215
Text Box
Nora




stuf2011040215
Text Box
Nora


Q.8: UNDERSTANDING MAGNETISM Mark(s): 5/5

Where is the greatest magnitude of the magnetic field around a permanent magnet?

il uphalitg Jga puhalisall Jlaall dad 4Si 095 (ol

Learning Outcomes Covered

o PHY.6.1.02.060

a.
The magnitude is equal at all points on the field.
blad) )< 8 Al wahlival) Jlaal) dasd
b.
In the middle of the magnet
uabalinall Jang @
C.

Close to the poles

Nora

Sl (e oAl

-l
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The magnitude depends on the material of the magnet.

Cushaliial) Bale o adiad dalial) Jlaall dad
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Q.9: Series and Parallel Circuits Mark(s): 5/5

In which circuit are all the resistors connected only in series ?

thatb gil) Ao Ugaga lgilaglia paan AUl Aliygsl) sl (f

Learning Outcomes Covered

o PHY.6.2.02.013

e —————————— .
M.‘—m—»w\—

C.

d.
——
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Q.10: Ohms law

What is the reading of the ammeter in the circuit?

S5yl b yinoVl Belys (o Lo

Mark(s): 5/5

{A)
S/
i
_ 27V 9.0 ©2
!
Learning Outcomes Covered
o PHY.6.2.02.013
R 1
] ]
a., '
' 30A :
[ ] |
[ ] |
(] |
B o o R R R RN R N R RN N R RN R RN R RN N R RN N R RN N N RN N RN N N RN RN RN RN N NN RN N RN N N NN N R RN N NN RN N RN RN R NN RN NN RN R NN RN N NN N N NN N N RN R N RN N NN RN N NN RN R RN N NN NN N RN RN R NN N N RN N R NN N RN RN NN N R RN N R RN R A o
b.
243 A
c.
243 A

|Nora

0334 A
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Q.11: Series and Parallel Circuits Mark(s): 5/5

For the given circuit, which statement below is correct?

tdadagall Al Ball daaias 00 el e

AlIE

Learning Outcomes Covered

o PHY.6.2.02.013

a.
R; and R, only are connected on series
Al Ao illasa kit Ry 9 Ry
b.

R, R, and R; are connected on parallel

Gl e dsage Ry, Ry 9 Ry
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R, R, and R; are connected on series

s Ao dsasa Ry, Ry 4Ry

R, and Rj; only are connected on series

Al Ao (nilpasa kit Ry 5 Ry
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Q.12: applications of electric energy Mark(s): 5/5

The wall adapter for recharging a cell phone battery draws 20 mA at 115 V outlet. If left plugged in for 24 hours, how much energy will the device
dissipate?

P iiled) LeSlginny ) A8 ik Lad ¢ Aol 24 5aad by e8I Sase @ 513 115V die e 20 mA  Jlall Cilgdl 4 )ty (i sale Y Lailall e casay

Ul sl Wl o asl Loy il
You may use any of the given equations where needed:

[=]

Charge of electron g
O Aiay C=—
19 AV
—-1.6 X107°C
| P . R W LI
Learning Outcomes Covered
o PHY.6.2.02.008
[P S 1
1 1
a., '
: 5.5x 1072 kWseh :
' '
1 1
B o o R N R RN R N R RN R R RN N RN RN R RN N R RN N RN RN N NN RN R RN N R RN N RN RN N N RN N RN N N RN N RN NN N NN RN N RN N N RN N R NN N NN NN N NN N R NN N R RN N NN RN N RN N N NN N N RN N R NN N RN RN R NN N N RN N R NN RN RN R RN N R RN N R RN R A o
b.
552 x 10> kWeh
c.
9x 1072 kWseh
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Q.13: MAGNETIC FIELD- UNDERSTANDING MAGNETISM

How

23 x 102 kWeh

is a temporary magnet different from a permanent magnet?

?ei\a”..ukw Liza g ¢ g0 Guadalina G COOAY] L

Learning Outcomes Covered

o PHY.6.1.02.065

A temporary magnet's domains do not align with one another, but a permanent magnet's do.
Al alalinall 3 s 5155 LS clguany aa i ) udalinall il 5 51 55 Y

A temporary magnet is made from a different type of material than a permanent magnet.
e:\\.ﬂ\ uagkw\ e \.g_l‘—).l A_iﬁm” sl ) tM J}A\ un.._\LLuuxM

A temporary magnet has a weaker magnetic field than a permanent magnet.
Alall Gulalixall (e Coraal haline Jlae 4 G 3all (uplalizall

A temporary magnet can be turned on and off, but a permanent magnet cannot.
Al adalinall ae @l Sy W S cadliy) 5 i pall Gualalinall Qi Sy

Mark(s): 0/5
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Q.14: Understanding Magnetism Mark(s): 5/5

What is the factor that does not affect the strength of the magnetic field in a solenoid?

€ sl Cilal) B ewalinal) Jlaall 8ok (B S5 Y (o1 Jalal) g2 La

Learning Outcomes Covered

o PHY.6.1.02.065

The current in the solenoid’s loops

(Aol Calal) clile A Ll Bad

Number of the loops

alall) dae

Spacing of the loops
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alall) s Alaldl) dlual)

section area of the solenoid
g al) calddl éhfu dalca
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Q.15: Resistance

Which of the following wires would have the greatest resistance?

Saoglio ST lg) 56 alil JMwlI gl

Learning Outcomes Covered

o PHY.6.2.02.010

an aluminum wire 10 cm in length and 3 cm in diameter

3 cm 0,k8510 cm b pgarall s

an aluminum wire 5 cm in length and 3 cm in diameter

3 cm 0,895 cm dgb pguall el

an aluminum wire 10 cm in length and 5 cm in diameter

5 cm 6,128910 cm dgb pguiell el

an aluminum wire 5 cm in length and 5 cm in diameter

5 cm 0,895 cm dgb pguall el

Mark(s): 5/5
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Q.16: application of electric energy Mark(s): 5/5

How is electrical energy transmitted with as little thermal energy transformation as possible?

08 Le B Al a d8Ua ) Jsaiall Ll (5 Cumy 40y 48Ul Jis oy oS

Learning Outcomes Covered

o PHY.6.2.02.008
o PHY.6.2.02.013

a.t E
E The current is reduced without the power being reduced by an increase in the voltage. E
] dgall 85L 5 Bayb oo 8yaall Juai 9> ooy bl Juldi E
b.
The current is reduced without the power being reduced by a decrease in the voltage.
ulgall JuliT $1yko oo 8,381 Jals 093 o yluill Jula
c.

The current is increased without the power being reduced by an increase in the voltage.
agall 85L 5 Gayb e 8yadll Juai (g oo H Ll 850 3
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The current is increased without the power being reduced by a decrease in the voltage.

bl Julis 515 oo 838 Julis 93 oo sl 83L5


stuf2011040215
Text Box
Nora


Q.17: Magnetism Mark(s): 5/5

According to the figure below that shows a permanent magnet, which statement is
correct?

fdasaia L0 el g cails Gaddaline G (g3 oLial JSa L

r

]
a.}

i

- If a south pole of an external magnet is close to point 4 the two poles will repel.

]

i O A (o) (8 4 AL (a o S il (2 b 51 13

i

]

[ o o R R R R R R R N R R R R N N R R R R N N R R R R S R N N N N N N N N N N NN NN SN N RN RN NN NN RN RN RN NN NN NN NN RN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN N NN NN NN NN R NN NN RN RN RN RN NN RN RN RN RN RN N RN RN R R
b.

point 4 is the north pole and point 2 is the south pole
i) il A 2 Aadill g ladl) Gual) 4 4 ddadil)

C.

Point 4 is the north pole while point 1 is the south pole.
sl il A q Adaill g Ll quladl) & 4 Al
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Points 1 and 3 indicates the electric field lines around the magnet.

Cubliiall Jga (Al gl Jlaal) Jaghad (BT 35 1 (sl
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Q.18: Understanding Magnetism

What does the structure in the figure represent?

?USal) (b apaall) oy 1ila

Learning Outcomes Covered

o PHY.6.1.02.065

loop conductor

s Jasa

Mark(s): 5/5
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Electric insulator

e Jle
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Q.19: electric circuit Mark(s): 5/5

What circuit elements does this schematic diagram show?

§USui] b yaby duilyeS]l 8y3l1 jolic o ol

®

Learning Outcomes Covered

o PHY.6.2.02.009

r 1
1 1
a.! -
1 1
[ ] . 1
: Battery, a resistor, a voltmeter and ammeter. '
L} 1
- Saaly Axeilgdg daglieg &)l -
i i
1 1
[ o o R R R R R R R R R R N R R R R R N R R R S N N N R R R R R N N N N N RN N RN N SN RN RN RN RN NN NN NN RN RN RN NN NN NN RN NN NN NN NN NN RN RN RN RN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN NN RN NN RN RN NN NN NN NN RN R R NN RN R R e e e e s om
b.
Switch, a resistor, a voltmeter and ammeter.
Sesly fsailgdy dogling liae
C.

Nora Battery, a resistor, a voltmeter and a lamp.
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Claans sl g A slia s 4y .

Switch, a capacitor, a voltmeter and ammeter.

Sesly fuailgdy (aiSey lide
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Q.20: Understanding Magnetism

How could the magnetic field in the figure be described?

fUSal b eashalinal) Jlaall iy (S S

Learning Outcomes Covered

o PHY.6.1.02.065

Point away from the wire

Alud) ¢ faxise

Point toward the wire

bl (e Lyika

Z
Q
o))
== el -y

Mark(s): 5/5
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Perpendicular to that wire

Al e lagas

Parallel with the wire

Al Lj)sa
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Q.21: parallel and series circuits Mark(s): 5/5

How

many 10 Qresistors must be connected in series to make an equivalent resistance of 70 Q?

£ 70Q dislSall doglaall auai iz (gl (e lpluogi wizy Q10 . dajlia oS

A Asaali )l clBlall (e ik Ly Calad

You may use any of the given equations where needed:

_ AVsource R=R, +R;, + ..
R
Learning Outcomes Covered
o PHY.6.2.02.009
o PHY.6.2.02.013
[P 0SS 0 00 0 1
[ ] |
a., '
: 7 ]
[ ] |
1 1
[ ] |
B o o o RN R N R RN N R RN N RN RN N R RN N R RN N N RN N RN RN NN NN N RN NN N N RN N NN N N RN N RN RN N R RN N NN RN N NN RN NN RN R NN RN NN RN N NN N N RN N NN RN N NN RN N NN N N RN N N NN N RN RN N NN N N RN N R NN N N RN RN N R RN N R RN R A o
b.
70
c.
10
|Nora
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Q.22: Inducing Currents

Which energy conversion process is the basic function of the electric motor?

gl il Aihy Lgale aiiad V) il CBLsaT (o)

Learning Outcomes Covered

o PHY.6.1.02.064
o PHY.6.2.02.011

Mechanical energy to electrical energy

g Bl ) AolSee Tl

Electrical energy to mechanical energy

4S50 2Bl ) Al HBl

Thermal energy to mechanical energy

Mark(s): 5/5
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Thermal energy to electrical energy

Aailgs 4Bl ) Ay s dil
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Q.23: MAGNETIC FIELD- UNDERSTANDING MAGNETISM

A wire is placed perpendicularly to a (5.0 T) magnetic field, the current through this wire is (20.0 A) and the force

on the wire is (25.0 N) . What is the length of the wire?

fllud) Jsb L . (25.0N) Wylaie 368 dgle i35 (20.0 A) S ) b ghaisg , (5.0 T) dlad pnbilinn Jlas (Ao Lagas dlls gung

A Asdal ) lilal) (e ak Las Cadud)

You may use any of the given equations where needed:

ATr I — — —

Learning Outcomes Covered

o PHY.6.1.02.065

- 0.25m
b.
25.0 m
c.
4.0 m

0.4m

Mark(s): 5/5
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Q.24: CIRCUITS- Application of circuit

What are the readings of A1 and V1?

fVISAL =S8 8 L

T

Learning Outcomes Covered

o PHY.6.2.02.009
o PHY.6.2.02.013

02A& 120V

18 A& 432V

Mark(s): 5/5
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Q.25: Applying Magnetic Forces

A positive charge Q, is placed in a magnetic field, B, which is directed towards right. If the charge is moving

parallelly to the magnetic field, what is the direction of the magnetic force on the charge?

ol oladl Lab usdaliiall Jlanall olal¥ Jlsa slad) (b ati diadl) culs 13) . Gpad) g dady ) B paasilite Jlaa 3 Q dinga A cinig
odiadd) Ao 5i5al dpudalinal)

Learning Outcomes Covered

|Nora ;

o PHY.6.1.02.060
o PHY.6.1.02.061

Toward the right.
Ol gad

Upward.
e

Downward.

Mark(s): 5/5
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No magnetic force generated to determine its direction
lgalad) sl Lucpalina 53 Lads y
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